
Sentence Jumbles Questions Overview
Sentence Jumbles Questions have a good weightage in the Banking Exam and the type of question asked in Banking

exam is similar to the question mentioned below. It has been solved and explained by Gargi.ai Experts and they have tried

to elaborate the concept used in Sentence Jumbles Questions.

Question
Rearrange the following sentences to form a correct passage. A. The rest finally gets dumped in landfills, clogs drains,

goes into the ocean as micro-plastics, or is burnt, leading to air pollution. B. The amount is equivalent to the weight of

around 4,300 elephants. C. India generates at least 25,940 tonnes of plastic waste daily. D. Of this, about 60% gets

recycled, according to the Union environment ministry.

Difficulty : Moderate Average Time : 42 Seconds

Options :
1. ADBC

2. CABD

3. CBDA

4. DCAB

Solution
The correct answer is option 3, i.e. CBDA.

1. Sentence C introduces us to the basic meaning of the passage, which is the amount of wastes generated by India
on a daily basis. The other statements only go on to add to this initial theme.

2. Sentence B provides a simile to emphasize on the point made by the first sentence, hence will occur later (at

second place) in the passage.

3. Sentence D moves the point further by stating the amount of waste that gets recycled. This cannot occur as the

second statement because then the elephant simile in the second sentence becomes irrelevant or incorrect when

used in the third or fourth spot. The sequential flow of the passage gets hampered.
4. Sentence A concludes by saying what happens to the rest of the waste materials. It is also apparent from the fact

that the adverb 'finally' is used, which altogether makes the sentence liable to be used at the end.

Hence, this option is the correct answer because it provides a correct and sequential order to the passage.
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